The partial fractions are not so tough as we think with the traditional methods.
Just follow us and and fell the fun with Partial Fractions.
Let us consider few problems.

= Example 1.

X2 -3x+2 A B C L
= + + [ ]
(x-5)2 x-5 (x-5)2 (x-5)3

> x2-3Xx+2=A(x-5)2+B(x-5) +C 2]
Put x = 5inequation[2]toget
225-3x5+2=Ax0+Bx0+C

»>C=12

Differentiateequation [2] withrespect toXx
22x-3=2A(X-5)+B [3]
Put x =5inequation [3]toget

»2x5-3=2Ax0+B

»>B=7

AgainDifferentiateequation [3]withrespect tox

22=2A [4]
=>A=1
Now
x2-3x+2 1 7 12
= + +

(x-5)° x-5 (x-5)% (x-5)3

= Example 2.

x3 -3 x Ax +B C D
= + + [1]
(x2+2x-1) (x-5)* (x*+2x-1) (x-5) (x-5)?

> x3-3x = (AX+B) (x-5)?+C(x?+2x-1) (x-5) +D (x> +2x -1) 2]
put x = 5inequation[2]toget
5% -3x5=D(52+2x5-1) » 110 = D (34)

55

»>D= —
17

Differentiateequation [2] Wi threspect toXx
23x2-3=A(X-5)2+2 (AX +B) (x-5) +C{(2x+2) (x-5) + (x*+2x-1)} +D (2x +2) [31]

put x = 5inequation[3]

55 55
3x5%2-3=Ax0+Bx0+C{0+ (5°+2x5-1)}+— (2x5+2) (usi ngD = _]
17 17
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660
=»72=34C+
17
282
>C=z —
289

Differentiateequation [3]w threspect tox
6X=2A(X-5)+2A (X-5)+2 (AX+B) +C{2 (Xx-5)+ (2Xx+2) + (2Xx+2)}y+2D
6X=4A(X-5)+2 (AX+B) +C{2 (x-5)+4 (x+1)}+2D [4]

put x =5inequation[4]

282 55
>30=10A+2B+C(24) +2D=10A+B+ x24 +2 x —
289 17
32 16
> — =10A+2B = — =5A+B [5]
289 289

Differentiateequation [4] withrespect tox

282
6=6A+6C »> 1=A+ (usi ng val ue of C) [6]
289
7
=>A= —
289

Useval ue of Ain [5]toget theval ueof Bas bel ow

16
— =5A+B =5x

+B
289 289
19
>B= - —
289
Finally
3 oy 29 282 55
X® -3 x 289 289 289 17

= + +
(x2+2x-1) (x-5)*> (x*+2x-1) (x-5) (x-5)?

Just usethi s met hodand enj oy t hefunof partial fraction.
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